Unit 6 Review Name
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Algebra 3 Block Dzte

Complete the following without looking at a Unit Circle:

Positive: Positine
Nesatne: Neeoiie

Positive: 0.2) Positive:
Negininve: Negainve
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Find the exact value of each of the following values:
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For the following triangles solve for x, leave answers in trig form
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Find the measure
s ofa po
coterminal with each gl\fe:laﬂtrglgngle and a nagative angla that are
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Find the value each trig function, leave in simplified fraction form:
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Convert each measure from degrees to radians or from radians to

degrees.
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Find th i z
e exgc.:\tﬂv;h:e;f the six trigonometric f;’r‘\\cg?l}%(sIn,cos,tan,csc,sec,cot): S 1ab = ‘-%- '
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Use the unit circle to find the exact value of each trigonometric

function.
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2 z
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